Intermediate Macroeconomics
Spring 2016

Final Exam Answer Key
Amjad Toukan
Student Name:______________________________Student ID#:__________________
You have 2 hours for this examination. It is a closed note/book exam. You may use a non-programmable calculator only. Explain all of your answers and show all of your work. A complete answer illustrates how you arrived at that answer. Label all graphs and axes. The points for each question and subquestion are listed in parentheses. Be sure to write your name, and student ID# above. Good luck!

In working through this exam, the following information may be useful to you:
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The dynamic version of the AD/AS model:

(Modified) Phillips Curve: 
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Okun's Law: 
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Aggregate Demand: 
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Y = C(Y-T) + I(Y,i) + G………………..Equilibrium in the Goods Market

C(Y-T) = c0 +c1(Yd)……………………The Consumption Function

Yd = Y – T………………………………Disposable Income
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………………………………Equilibrium in the Financial Market


[image: image11.wmf])

,

1

(

)

1

(

z

L

Y

F

P

P

e

-

+

=

m

……………….AS relation


[image: image12.wmf]w

P

)

1

(

m

+

=

…………………………….Price Setting relation


[image: image13.wmf])

,

(

z

u

F

P

w

e

=

…………………………...Wage setting relation
1. Suppose that the Phillips curve is given by
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where 
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 is the markup of prices over wages. Suppose that 
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is initially equal to 20% but that as a result of a sharp increase in oil prices, 
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 increases to 40% in year t and after.

a. (5 points) Why would an increase in oil prices result in an increase in 
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? Explain.
b. (5 points) What is the effect of the increase in 
[image: image19.wmf]m

 on the natural rate of unemployment? Explain.
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c. (5 points) Suppose that you are advising a government that wants to reduce the inflation rate. It is considering two options: a gradual reduction over several years or an immediate reduction. Lay out the arguments for and against each option. (Hint: use the “Lucas Critique” and the “Nominal Rigidities and Contracts” arguments)

2. Suppose that a leaking oil well in the Mediterranean Sea causes many factories to become clogged with oil and tar, thereby increasing the capital depreciation rate in Lebanon. Suppose that to counter this effect, the government enacts a tax policy that increases the saving rate in Lebanon.

a. (5 points) How does the above scenario affect steady-state levels of capital per worker and output per worker? Illustrate and explain.

b. (5 points) Will the above scenario affect the steady-state growth rate of output per worker? To increase the steady-state growth rate of output per worker what factor must also increase? Explain.
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3. In Fall 2015, the central bank was concerned with the possibility of inflation. They then changed policy course and engaged in contractionary monetary policy. The central bank’s goal was to decrease the rate of inflation.

(a) (5) Illustrate the effects of a contractionary monetary policy in the static version of the IS-LM, AD/AS model. Explain. Your explanation should describe contractionary monetary policy in this model.

Contractionary monetary policy in the static model is 
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. This shifts the LM and AD curves leading to lower Y, higher P, higher i.
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(b) (5) Illustrate the effects of a contractionary monetary policy in the dynamic version of the medium-run economy. Explain. Your explanation should describe contractionary monetary policy in this model.

The dynamic version is given by:

(Modified) Phillips Curve: 
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Okun's Law: 
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Aggregate Demand: 
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Contractionary monetary policy is a decrease in the growth rate of money:
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(c) (5) What is the essential difference in contractionary monetary policy between these two models of the medium-run economy?

c) The difference in contractionary policy between those two models is that the static model is a decrease in the level of M and the dynamic is a decrease in the growth rate of M.
4. A new president, who promised during the campaign that she would raise taxes, has just been elected. People trust that she will keep her promise, but that the tax increase will be implemented only in the future. Determine the impact of the election on current output, the current interest rate, and current private spending, under each of the following assumptions. (In each case, indicate what you think will happen to 
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, and then how these changes in expectations affect output today.) Explain.

a. (5) The central bank will not change its policy.

People anticipate that in the future the IS curve will shift right with the future tax cuts. If the Fed does nothing different in the future, the shift in the IS curve will increase output and increase interest rates in the future. The higher output will tend to make investment and consumption higher. The higher interest rates will tend to reduce investment and consumption. So the net effect TODAY is ambiguous. You may assume that the output effect outweighs the interest rate effect, or vice-versa. If output dominates then TODAY’s IS will shift right. If interest rate effect dominates then TODAY’s IS will shift left.

b. (5) The central bank will act to prevent any change in the future interest rate.

If the Fed will keep the interest rate constant then when the FUTURE IS shifts right the Fed will shift the FUTURE LM right to keep rates constant. So people will expect FUTURE output to increase and no change in interest rates. This will increase TODAY’s consumption and investment, and shift TODAY’s IS right.

5. (10) Let us examine the effects of fiscal policy in an Open Economy, Suppose that, starting from a balanced budget, the government decides to increase defense spending without changing taxes and so runs a budget deficit. What happens to the level of output? To the composition of output: C, I, G, and NX? To the interest rate? To the Exchange rate?
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6. You work for the Secretary of Treasury, and you are asked to help prepare the Secretary to brief the President. Here’s the situation. Output has fallen below what everyone believes to be the natural level. Some Parliamentary leaders (call them Group A) say that the government should take no action. Others (Group B) argue that the government should implement a big tax cut to stimulate the economy.

a) (5) Assuming that output is below its natural level, draw an AD-AS diagram representing the initial situation. Suppose Group A wins the policy debate, and the government takes no action. Show in the diagram and explain briefly in words how the economy would return to the natural level of output.

[image: image35.emf]
b) (5) Now suppose that Group B wins the policy debate, and the government implements a big tax cut. Repeat the analysis of part (a). With respect to output, how does a tax cut differ from doing nothing?
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c) (5) Draw an IS-LM diagram representing the initial situation. Show in the diagram the medium run effects on the economy under the policies of Group A (doing nothing) and Group B (tax cut). (It would be nice to answer this question with one diagram, but you can use two – one for each Group – if it’s too messy.) Compare the medium-run effects of the two policies on the interest rate, investment, and consumption.
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d) (5) Now suppose the central bank ends the debate by acting immediately to return the economy to its natural rate of output. What policy action must it take to do this? With respect to output, how does the central bank’s policy compare with doing nothing (Group A) or a tax cut (Group B)? With respect to investment, how does the central bank’s policy compare?
ANSWER: The Fed can restore output to its natural level immediately by increasing M, which shifts LM and AD to the right. With respect to output, the Fed action restores the 
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